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X2t (260) = 30.0 @ 29.2 88 162 | 158 2.9
Mz (141) = 248 3458 6.4 227 113 2.8
AN (4) 208 167 167 250 | 208 3.9
AALZO| (2,277) | 278 263 108 199 @ 153 3.0
34 0J5} (4100 278 2658 98 188 | 168 3.1
3¢ =354 0|5t (491) = 263 255 141 183 159 3.1
] 54 =x1~104 0|5} (857) = 289  26.0 96 216 139 3.0
108 =14~204 0|5t (461) = 265 271 108 187 @ 169 3.1
20 =1t (82) = 305 244 98 244  11.0 2.9
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LR ERRERRR
® 0

(B 22-17] HY 0|R(1=4%)

(n=2,301, =2 : %)

- e oz R ym oge BIH

= AR Y G 08 gn ux M o5

T °° @49 T °° [ M | T

X H| (2,301) 676 57 49 43 30 26 2.1

HE=N (122) | 721 33 41 25 00 57 08

CAIN (495) | 727 40 24 40 @ 22 16 | 16

B Sty (1,008) = 63.1 9.5 55 43 39 39 1.0
MH|AS (469) 699 1.7 55 47 41 06 @ 30

7|EFA (2099 689 19 72 48 00 14 77

e (52) @ 69.2 19 77 77 00 38 19

BAL (405) | 61.0 52 40 59 22 27 37

OIX (32) 594 94 94 31 00 63 00

CH+* 69 754 58 29 43 1.4 1.4 1.4

o= (94) = 68.1 43 32 74 32 1.1 1.1

Wb (46) 630 87 87 | 22 22 43 00

SAt 97) 629 | 41 93 3.1 3.1 2.1 4.1

27| (140) = 72.1 7.1 43 1 29 29 29 21

X Zte (525) 667 @ 63 70 36 57 25 10
e 47 766 00 2.1 64 43 43 | 00

=4 (140) | 72.1 64 29 29 14 00 | 43

PES (64 688 16 47 63 3.1 3.1 0.0

e 61 754 49 33 00 16 66 16

Xyt (105) 667 86 29 57 19 38 19

#=2 (128) 1 797 55 23 16 23 08 23

A (155) | 665 52 52 52 19 45 32

= (141) 667 78 35 35 21 14 14

e | (224) 696 63 58 40 18 36 18

22 (525) 667 @ 63 70 36 57 25 10

. =XH (297) | 707 = 47 @ 40 40 24 20 20
= A (854) 662 @ 52 44 47 22 26 33
X2t (260) 692 @ 6.2 3.1 50 23 35 15

M= (141) 667 78 35 35 21 14 14

7| AT (24) 500 125 83 | 42 83 00 00
=] AAREOI (2,277) | 678 57 | 49 43 29 26 22
34 0|5} (410) | 66.1 54 46 39 34 39 27

39 X154 0|5t 491) | 711 55 39 47 22 18 | 26

o3 | 54 xIp~104 0|5t (857) 659 64 49 42 30 28 16
108 X1}~20 0|5t (461) 677 52 65 43 39 1.7 20

204 =1t 8) 707 49 37 37 00 37 24
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(B 22-17] HY 019(122)(H1%)

(n=2,301, =% : %)

UL 2o _ e /7=
2= e FEIE SO we BUEE g
X | (2,301) 1.9 0.7 0.6 0.5 6.1
M= (122) 1.6 0.0 2.5 0.0 7.4
CAINY (495) 1.8 1.6 0.6 0.6 6.7
= = ==EE (1,008) 1.6 0.4 0.3 0.4 6.2
MH|AN (469) 2.6 0.2 0.9 0.9 6.0
7|EtA (209) 2.4 1.0 0.5 0.0 43
N (52) 1.9 0.0 0.0 0.0 5.8
=it (405) 2.2 1.2 1.0 0.7 10.1
QI (32) 0.0 0.0 3.1 0.0 9.4
Cht (69) 0.0 0.0 0.0 0.0 7.2
35 (94) 3.2 1.1 2.1 1.1 43
CHA (46) 4.3 0.0 0.0 0.0 6.5
24t 97) 2.1 0.0 2.1 0.0 7.2
27| (140) 0.0 0.0 0.0 0.7 5.0
Xt 2+ (525) 1.7 0.6 0.6 0.0 44
=2 47) 2.1 0.0 0.0 0.0 4.3
Lt (140) 36 0.7 0.0 0.7 5.0
M= (64) 0.0 1.6 1.6 0.0 9.4
M2 61 1.6 0.0 0.0 3.3 1.6
Lt (105) 2.9 1.0 0.0 0.0 4.8
P ) (128) 3.1 0.0 0.0 0.8 1.6
At (155) 0.0 0.6 0.6 0.6 6.5
= (141) 2.8 1.4 0.0 0.7 8.5
LA (224) 0.4 0.0 0.4 0.4 5.8
ZeEdH (525) 1.7 0.6 0.6 0.0 4.4
. ZXA (297) 2.7 0.7 0.3 0.3 6.1
= ZAH (854) 1.8 0.7 0.8 0.6 7.6
X2t (260) 2.7 0.8 0.8 1.2 3.8
HZ=H (141) 2.8 14 0.0 0.7 8.5
7| A7 (24) 12.5 0.0 0.0 0.0 4.2
=l AAMTO| (2,277) 1.8 0.7 0.6 0.5 6.1
34 05} 410) 2.4 0.7 1.0 15 4.4
34 =54 0[5t (491) 1.8 0.8 0.4 0.0 5.1
Az 5A x1~104 0|3} (857) 1.8 0.6 0.8 0.4 7.6
104 X1}~20 0|5} (461) 2.2 0.4 0.2 0.4 5.4
204 =1t (82) 0.0 1.2 0.0 0.0 9.8
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LR ERRERRR
® 0

[E ££-18] HY 0|RQ2=4)

(n=1,783, =& : %)

o N ozH op T my 38 opn

:'L"—- AI‘aI# Olil. ARA ZIA 7m Alil. ng ARA

= oo [= (= é,l'% a é,l'% oo

M A (1,783) 1 190 147 122 114 105 95 6.3

polEs! 97) 124 134 82 216 113 103 52

CAIN (391) 217 1.3 125 7.7 141 102 0 7.2

SES SAl&Hf (77890 | 176 179 144 172 50 7.7 = 5.1
AMH|A (358) 196 159 98 1.7 134 109 84

7|Et (159) | 220 57 82 82 220 132 57

e (3 132 211 105 132 79 79 26

24t (346) 1 159 98 202 118 98 113 58

QIX (25) 160 40 80 80 240 80 4.0

o (68)  17.2 207 103 138 | 121 103 34

= (76) 237 132 145 92 105 53 26

Ch& (30) 167 100 167 @ 67 67 100 67

At 71 1.3 85 141 211 99 127 7.0

27| (112) | 196 143 98 116 125 116 @ 45

XHE 2 (382) | 204 186 84 92 107 92 94
e (41 146 146 98 98 73 122 73

=Lt (111) | 207 144 99 153 81 8.1 3.6

e (63) 245 132 94 132 151 75 75

M= (47) 383 149 64 43 128 43 43

Si=1 (720 181 181 153 | 111 97 28 42

3= (96) 219 219 42 135 104 104 @ 4.2

At (121) | 140 124 116 116 132 116 107

= (104) 221 154 135 106 67 96 @ 48

e | (175) | 17.7 143 97 114 131 103 | 40

2A (382) | 204 186 84 92 107 92 94

. =X (235) 200 136 106 128 94 89 55
= AMH (692) 160 12,7 150 132 107 113 64
et (195) | 251 154 128 87 108 4.1 3.6

M= (104) 221 154 135 106 67 96 @ 48

7| AN (22) 91 364 182 136 45 136 00
=i} AAREOI (1,761) | 191 144 121 114 106 95 64
34 0|5} (316) | 193 127 133 120 104 104 @ 66

3 X151 0|5t (394) 185 162 119 114 99 74 58

ozl | 54 x~104 0|5t (660) 195 147 132 130 106 89 6.2
109 =1~204 Ol5F  (348) 175 149 95 86 109 124 66

204 =1t (65 231 138 123 | 77 123 92 62
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[ 22-18] HY 0|R=2)#HL)

(n=1,783, ©¢| : %)

UL g4/
1= Al ol 7= A 7|E}
(B4 S g=
X | (1,783) 6.2 15 1.3 39
HIE 97) 6.2 4.1 2.1 3.1
EANNY (391) 4.3 15 2.3 26
s SRl (778) 5.8 0.8 0.9 4.8
MH|AS (358) 7.8 2.0 0.8 4.7
7|EFA (159) 8.8 1.9 1.3 1.9
ME (39) 7.9 0.0 5.3 5.3
24t (346) 4.6 2.3 14 35
QIH (25) 4.0 0.0 4.0 16.0
Cht (58) 6.9 0.0 3.4 0.0
3= (76) 7.9 3.9 0.0 6.6
L (30) 3.3 0.0 3.3 13.3
=4t (71) 4.2 0.0 1.4 7.0
7| (112) 6.3 0.9 0.9 3.6
oy (382) 6.5 1.6 0.8 2.6
e ) 12.2 2.4 0.0 7.3
o= (111) 6.3 2.7 2.7 45
NES (53) 5.7 0.0 0.0 0.0
HE 47) 6.4 0.0 2.1 43
Mt (72) 9.7 2.8 1.4 14
85 (96) 3.1 2.1 0.0 1.0
a8 (121) 6.6 0.0 0.8 5.0
= (104) 7.7 0.0 1.0 5.8
S (175) 6.3 0.6 2.3 5.7
P s (382) 6.5 1.6 0.8 2.6
2408 3 (235) 6.8 1.7 1.7 5.1
= ANA (692) 4.9 1.4 1.3 35
X2t (195) 8.2 2.6 1.0 4.1
N=H (104) 7.7 0.0 1.0 5.8
27| (22) 0.0 4.5 0.0 0.0
AAREOI (1,761) 6.2 1.4 1.3 4.0
34 0|5t (316) 5.1 1.3 1.6 3.8
39 X154 0|5} (394) 46 2.0 15 6.6
54 x1~104 0|5t (660) 6.7 1.1 0.8 2.0
109 =14~204 0|5t (348) 7.8 2.0 2.0 4.6
20 =t (65) 7.7 0.0 0.0 46
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® 0

(B 22-19] HY 0|(1+249)

(n=2,301, &% : %)

T e ME o mE o S am T5Nagug
= B2 o N3 L M g 4B
M (2,301) 77.0 190 171 115 103 97 93
M= (122) 787 123 139 230 98 90 98
EAINY (495) | 826 212 129 77 127 59 99
SES SA|&Hiof (1,006) | 743 179 234 172 | 49 99 76
MH|AS 469 774 196 139 1.9 132 115 109
7|EfA (209 751 215 62 7.7 244 139 124
NES (52) | 769 | 173 173 135 | 7.7 135 | 7.7
A (405) 783 195 136 128 121 79 119
QI (32) 656 156 125 125 188 125 6.3
2 (69) 841 188 232 130 116 87 87
= (94) 798 266 149 85 96 96 74
CHE @e) 739 130 152 87 43 109 | 109
s 97 732 113 103 175 113 124 113
Z7| (1400  80.0 186 186 121 121 93 93
XHE 2l (625) 72.8 185 198 91 88 118 84
== @47) 8.1 191 128 128 64 128 | 128
e (140) | 80.0 193 17.9 121 107 79 100
MB (64) 766 266 125 141 125 94 | 63
M2 (61) 803 295 164 98 115 82 49
Mt (105) 771 181 21.0 114 86 95 48
3= (128) | 82.8 180 21.9 109 102 47 109
At (1565) 755 161 148 135 135 103 @ 9.0
poES (141) 766 199 191 92 64 92 99
e | (224) 772 179 174 125 121 107 @ 85
2 (525) ' 72.8 185 198 91 88 118 84
- =XH (297) 791 199 165 121 94 94 98
= AN (854) 783 177 155 132 119 84 109
X2t (260) 788 238 177 100 96 92 58
M= (141) 766 199 191 92 64 92 99
718 A7 (24) 667 125 458 125 42 83 | 250
bl AAMEOI (2,277) 771 191 168 115 104 97 9.1
34 0|5} (4100 763 188 151 132 107 85 105
34 X154 0|5} (491) | 80.7 196 185 110 106 75 7.7
o2l | 54 X110 0|5} (857) 761 193 177 128 98 100 86
104 =1~204 O[5  (@61) 748 176 165 | 82 102 124 115
204 =1} (82) 805 220 159 98 122 98 73
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(B 22-19] IY 0|R(1+229)7HL)

(n=2,301, T2 : %)
[o]] A
2 AEa S gy TR g
(==} =
™A (2,301) 7.9 1.6 9.2
M= (122) 4.1 3.3 9.8
EAIN (495) 7.9 1.8 8.7
= === (1,006) 7.9 1.0 9.8
AH[ A (469) 10.4 2.3 9.6
7|EfA (209) 4.3 1.4 5.7
N (52) 1.9 0.0 9.6
AL (405) 7.2 2.7 13.1
QIH (32) 3.1 0.0 21.9
k=] (69) 4.3 0.0 7.2
35 (94) 5.3 4.3 9.6
L (46) 6.5 0.0 15.2
=4t (97) 8.2 0.0 12.4
27| (140) 6.4 1.4 7.9
e (525) 12.6 1.1 6.3
55 47 10.6 2.1 10.6
o= (140) 4.3 2.9 8.6
MZ (64) 9.4 0.0 9.4
HE 61) 4.9 33 4.9
e (105) 4.8 1.9 5.7
PZE (128) 5.5 2.3 2.3
4 (155) 10.3 0.6 10.3
= (141) 5.7 0.7 12.8
SCH (224) 4.9 0.9 10.3
2o (525) 12.6 1.1 6.3
w2y s 2 Ts T 104
ek (260) 5.0 3.1 6.9
M= (1471) 5.7 0.7 12.8
AN (24) 8.3 4.2 4.2
24301 (2,277) 7.9 1.6 9.2
34 0|5} 410 8.5 2.4 7.3
34 =4~ OJst (491) 6.9 1.6 10.4
oz | b X1~104 0I5} (857) 7.8 1.2 9.1
104 Z1}~209 0|5t (461) 8.9 2.0 8.9
204 =1} (82) 4.9 0.0 13.4
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o0

(B 22-20] 122, 127} IO Qs HY AR 0fF

(n=2,301, =2 : %)

T2 At of o[
M (2,301) 78.8 21.2
HES (122) 62.3 37.7
EAHY (495) 75.2 24.8
S A= (1,006) 82.9 17.1
MH|A (469) 79.1 20.9
7|EH (209) 76.6 23.4
M= (52) 67.3 32.7
24t (405) 78.5 21.5
QI (32) 56.3 43.8
Ch=t (69) 79.7 20.3
g3 (94) 87.2 12.8
Ch (46) 67.4 32.6
= (97) 76.3 23.7
47| (140) 77.9 22.1
RHE Py (525) 80.6 19.4
== 47) 78.7 21.3
=l (140) 80.7 19.3
ME (64) 79.7 20.3
S 61) 82.0 18.0
i (105) 84.8 15.2
45 (128) 82.0 18.0
ad (155) 72.3 27.7
PN[ES (141) 78.7 21.3
e | (224) 72.3 27.7
F e s (525) 80.6 19.4
2o 384 (297) 78.1 21.9
= AN (854) 77.8 222
HMetH (260) 85.0 15.0
poES (141) 78.7 21.3
71 A7|A (24) 83.3 16.7
e 24301 (2,277) 78.7 21.3
3 o|at (410) 78.5 215
34 x1}~54 0|5} (491) 79.6 20.4
2] 54 X110 Olst (857) 80.3 19.7
109 =1~204 05} (461) 75.5 24.5
204 =1t (82) 78.0 22.0
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(B 22-21] 232, D27t DRI B 43

(n=1,813, =2 : %, H)

e e 2Ol @m0l g amol 4™ 100M

g 2 HE RS HWH A

H (1,813) 5.0 41.0 2.8 02 353 8434

HEN (76)  51.3 447 3.9 0.0 347 8246

AN (372) 527 433 3.8 03 348 8280

A= SAlgHIO) (834) 596 385 1.8 0.1 = 358 8585
MH|A (371) 528 429 4.3 0.0 349 8284

7|EFA (160) = 55.0 | 43.1 1.9 00 | 353 8437

e (35  60.0 400 0.0 0.0 360 | 86.67

HAL (318) 541 44.0 1.9 0.0 | 352 8407

OIx (18) = 556 333 111 0.0 @ 344 8148

ChL (55) 582 @ 327 9.1 0.0 @ 349 | 8303

= (82) 415 537 4.9 00 @ 337 7886

CHH (31) = 581 387 3.2 0.0 @ 355  84.95

SAt (74) = 459 514 0.0 27 | 341 80.18

7| (1090 606  37.6 1.8 0.0 359  86.24

XHE 2 (423) 572 395 3.3 00 354 8463
=u (37) 568 378 5.4 00 @ 351 8378

=4 (113) 566 416 1.8 0.0 @ 355  84.9

WES (51) = 569 | 412 2.0 0.0 @ 355 | 8497

e (50) 640  36.0 0.0 0.0 = 3.64  88.00

My (89) 618 36.0 2.2 00 | 3.60 8652

A= (105) 524 429 4.8 0.0 @ 348 8254

A (112) 625 366 0.9 00 @ 362  87.20

= (111) 550 414 3.6 0.0 @ 351 8378

e | (162) = 59.9 | 37.7 2.5 0.0 @ 357 8580

22 (423) 572 395 3.3 00 @ 354 8463

e =X (232) 569 @ 405 2.6 00 | 354 8477
= a4 (664) | 547 @ 425 2.6 03 352 8384
HMap (221) 548 425 2.7 0.0 | 352 8401

=3 (111) 550 414 3.6 0.0 @ 351 8378

7| A7 (200 650 @ 350 0.0 00 | 365 8833
) AANEOI (1,793) = 559 | 41.1 2.8 0.1 | 353 | 84.29
34 0|5} (322) 568  40.1 3.1 0.0 @ 354 8458

39 X754 0|5t (391) 550 419 3.1 0.0 | 352 | 8397

4= b xu~104 0|5t (688) = 57.3 | 40.0 2.6 01 | 354 8479
104 =2+~204 0|5} (348) 572 397 2.9 03 354 8458

204 =1t 64) 391 594 1.6 0.0 | 338 | 79.17

) HY MR 132, 1=7PF SOl At SE 1,813
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(B 22-22] I M = Oj2AIEH(129))

(n=2,301, Q| : %)

A HE
Al.O-IIr 7|_7.<_ |]HOI°I1I F‘-—ta‘j oo mjol=1 gl

= HAUZ o | s B S5 550 = BHEF

7= Mg T evl/m Al oks TR MZ SR TR Tl
E N2 :ﬂﬂ %;E PSS Ay
M| oz

X A (2,301) 299 214 176 90 70 63 47 39 02
M= (122) 164 131 287 180 107 74 41 16 00
AN (495) 236 17.0 188 160 83 75 57 32 00
SES S Az} (1,006) 36.7 243 143 56 49 60 39 44 0.1
MH|A 469) 269 237 207 53 75 51 64 43 02
7|Ete (209) 273 182 167 124 11.0 67 33 33 10
N (52) 288 212 250 58 00 77 96 19 00
=it (405) 31.1 17.3 143 91 101 74 49 52 05
OIX (32) 313 219 125 63 156 94 00 31 00
CH (69) 275 232 232 72 58 43 43 43 00
= (94) 245 181 191 138 74 74 53 43 00
CHA @6) 196 19.6 196 13.0 130 109 43 00 00
24t (97) 247 186 268 72 41 62 62 62 00
27| (140) 307 229 179 71 36 43 93 43 00
P! (525) 356 246 166 72 48 30 53 29 00
=g @47) 277 213 170 128 85 43 43 21 21
=Lt (140) 30.0 221 121 107 7.9 100 50 21 00
JNES (64) 266 281 188 109 16 63 16 63 00
g 61 213 197 262 82 115 82 33 16 00
bSi=1 (105) 27.6 162 219 133 57 7.6 38 38 00
H=2 (128) 281 250 195 70 86 47 55 16 00
At (155) 31.0 226 194 90 52 52 13 58 06
= (141) 248 206 121 121 113 121 14 57 00
N | (224) 304 223 188 6.7 45 58 80 36 00
2 (525) 35.6 246 166 72 48 30 53 29 00
=XH (297) 273 229 155 114 74 84 40 27 03
a4 (854) 29.6 200 181 84 80 62 44 48 04
Mt (260) 25.0 17.7 219 123 77 7.7 42 35 00
M= (141) 248 206 121 121 113 121 14 57 00
AN (24) 16.7 250 125 42 167 00 167 42 42
AAREOI (2,277) 30.1 214 176 91 69 63 46 39 0.1
31 05} (410) 29.0 220 183 90 63 7.6 29 49 00
39 x5 0[5} (491) 332 226 155 94 79 45 35 33 02

54 Zu~104 Ofot (857)) 31.4 205 193 79 63 58 56/ 29 02
104 =1+~204 Ofst (461)| 24.7 223 154 98 80 72 65/ 59 02
204 =1t (82)| 29.3| 159 20.7| 146, 61 98| 24 12 00
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(B 22-23] I M = Oj2AIEH229))

(n=1,624, T2 : %)

o

.T'.I-Eﬂ glel‘
TE am MU o, BB Y AZ W
7= Atz e T8 QU T B MEH S BRI T8 Tl
=2 T B o S A FM &

,gE I-IE_|

_?__7_.':_ o
X | (1,624) 230 179 152 114 108 7.4 72 70 0.1
M= (92) 239 87 87 228 141 54 65 98 00
CADY (335) 236 122 149 131 1.0 113 63 72 03
o= SAlZHIOf (733) 22.8 220 162 83 102 64 80 59 0.1
MH|AN (332) 244 172 151 111 96 63 75 87 00
7|Ete (132) 182 182 152 167 136 68 45 68 00
N2 (35) 257 114 171 143 114 86 29 86 00
2L (300) 17.7 17.7 13.0 113 143 67 80 11.0 03
01X (20) 15.0 250 150 100 200 150 0.0 00 00
ChL (51) 235 157 118 7.8 137 137 7.8 39 20
nES (70) 243 157 129 129 157 71 7.1 43 00
[yl (33) 333 121 91 3.0 121 152 91 61 00
At (71) 19.7 141 127 1565 183 7.0 99 28 00
27| (101) 24.8 158 168 7.9 139 79 20 109 0.0
P! (361) 23.0 233 177 78 78 58 94 53 00
== (38) 263 21.1 158 1568 79 105 0.0 26 00
4 (95) 137 189 137 126 105 147 63 95 00
e (50) 24.0 18.0 160 160 80 80 40 60 00
e @4) 227 159 205 182 91 45 23 68 00
Xt (72) 278 153 167 97 42 56 97 111 00
a2 (88) 33.0 159 148 136 57 23 125 23 00
A4 (107) 243 159 178 150 112 75 47 37 00
Xz (88) 295 136 125 159 6.8 57 57 102 0.0
S (156) 23.7 16.0 167 96 141 90 1.9 90 00
ZeEdH (361) 23.0 233 177 78 78 58 94 53 00
=XH (216) 21.3 181 139 125 97 125 51 69 00
vy (617) 21.7 165 139 125 130 68 83 70 03
X2t (186) 253 156 161 129 97 59 70 75 00
M= (88) 295 136 125 1569 6.8 57 57 102 00
A7\ (200 0.0 150 100 50 150 200 30.0 50 0.0
AAFZO| (1,604) 233 180 153 115 107 72 69 70 0.1
34 0J5} (293) 222 164 164 99 126 72 72 78 03

34 =1~654 0[5t (357)| 204 18.2| 176 95| 129 76 59 78 00
b =1~104 O[5t | (601) 241 183 146 121 105 72 63| 6.8 00
104 =d~2094 Ot | (317)) 243 196 129 120 79 79 101 54 00

204 =1t (66) 23.2| 10.7 125/ 196 71 71| 89 89 1.8
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ARRRRRERRE

H 2E-24] HY 1Y F Oi2AR(1+224)
(n=2,301, =< : %)
He oy
L i TIE A E;Eil ﬂﬂali'}é%'ﬁ oz o ==
= NS S AH| Ql|/of Chat HE A M3 EXZ E 7|}
e £y ME BY BM &
o= g2
~ES
o H (2,301) 42.6/ 33.8 322/ 150 143 139 9.8 88| 03
= (122) 23.0 467 19.7 279 221 180 90 90 00
AN (495) 31.9 347 271 172 236 149 99 81 02
o= S AlZHlo] (1,006) 52.7 309 36.1 109 102 134 97 86 02
MH|A S (469) 39.0 38.0 343 154 98 119 11.7 104 0.2
7|EFA (209) 38.8 282 278 215 167 153 62 77 1.0
NES (52) 365 423 327 96 115 154 115 7.7 00
=FY (405) 442 274 269 185 141 180 109 133 0.7
oI (32) 469 219 313 219 156 219 00 31 00
7 (69) 39.1 406 319 11.6 174 145 101 72 14
33 (94) 36.2| 37.2 27.7) 17.0 19.1 19.1| 106 7.4 0.0
CH& (46) 283 435 261 152 239 196 109 43 00
Mt (97) 351 412 27.8 155 124 196 134 82 0.0
A7) (140) 421 357 350 9.3 129 143 107 121 0.0
THEH 22 (525) 51.6 324 368 101 112 84 118 65 00
z= (47) 447 383 340 21.3 213 106 43 43 2.1
ETT (140) 42.9 214 314 164 207 171 93 86 00
MHZE (64) 40.6 37.5 406 141 172 125 47 109 0.0
M2 (61) 32.8 426 344 246 115 148 49 66 00
Mt (105) 38.1 41.0 276 124 171 105 105 11.4| 0.0
ze (128) 39.1 422 352 180 86 86 141 31 00
Zy4t (155) 41.9 36.1 34.8 155 142 129 45 84 06
= (141) 333 305 284 213 156 163 50 121 0.0
N (224) 415 353 339 112 129 156 94 98| 00
2 (525) 51.6 324 368 101 112 84 118 65 00
401 XA (297) 404 31.0 33.0 165 205 155 7.7 7.7 03
=0 A (854) 41.6 33.8 30.1 17.0 133 156 104 9.8 06
Xatd (260) 36.2 40.0 292 169 165 146 92 88 00
M= (141) 33.3 305 284 213 156 163 50 121 0.0
Jjeiam A7 (24) 292 125 333 208 208 125 417 83 42
= AAFZO| (2,277) 427 340 321 150 142 139 95 88 02
34 05} (410) 40.7 34.1 337 134 141 166 80 105 0.2
3E =154 0|5F (491) 464 303 354 149 149 138 77 90 02
o= 5 x=9~109 Of5F (857) 44.2 0 362 30.8 148 13.0 132 100 7.7 0.2
104 =24~204 O|5F (461) 382 321 31.2 163 152 126 134 95 0.2
204 =1} (82) 36.6 36.6 244 195 195 146 85 73 1.2
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(B $=-25] HE YA 87

(n=2,301, ©¢ : %)

v > AH~ Ol
0 AR Zot‘,’f.’,?;'%s.zéggglﬂ "o oo e | =s
= ook ook ok ok
X | (2,301) 63 273 362 162 8.3 45 1.2
M= (122) 98 311 344 9.8 9.8 4.1 0.8
CAINN (495) 69 311 345 125 8.5 4.4 2.0
B e e (1,006) 56 236 396 186 7.0 4.8 1.0
MH|AN (469) 66 275 345 164 9.4 4.7 0.9
7|EFA (209) 62 335 287 167 105 3.3 1.0
M2 (52) 58 192 442 135 115 5.8 0.0
HAL (405) 89 311 294 168 9.1 3.2 15
QIx (32) 00 406 375 6.3 9.4 3.1 3.1
ol (69) 7.2 246 406 145 101 1.4 1.4
Iz (94) 1.1 277 394 181 9.6 3.2 1.1
CHE (46) 65 283 326 174 8.7 6.5 0.0
24t (97) 62 278 392 165 4.1 5.2 1.0
27| (140) 71 221 357 200 9.3 5.7 0.0
XHEt 2 (525) 48 253 404 162 8.0 5.1 0.2
EX] 47) 6.4 213 426 128 106 6.4 0.0
=4 (140) 79 357 257 200 4.3 5.0 1.4
ME (64) 47 281 422 156 6.3 1.6 1.6
M= 61) 82 213 393 148 9.8 4.9 1.6
Myt (105) 57 219 410 133 114 4.8 1.9
z= (128) 31 266 383 141 117 4.7 1.6
A (155) 103 245 387 148 4.5 3.9 3.2
piES (141) 6.4 326 284 170 7.1 6.4 2.1
LA (224) 58 241 379 165 9.8 5.4 0.4
ZeEdH (525) 48 253 404 162 8.0 5.1 0.2
. Z=XH (297) 6.7 306 330 175 6.4 4.7 1.0
= or-§= (854) 7.8 283 344 158 8.2 3.6 1.8
X2t (260) 46 238 400 154 104 4.2 15
M= (141) 6.4 326 284 170 7.1 6.4 2.1
71 AT (24) 0.0 42 333 208 208 208 0.0
=l AAFZO| (2,277) 6.4 275 362 162 8.1 4.3 1.2
34 0J5} 410 71 324 344 141 7.1 3.4 15
34 =54 0[5t (491) 57 244 391 177 9.2 3.1 0.8
21 5 x0~104 0I5t (857) 58 266 375 165 7.0 5.4 1.3
104 =14~204 0|5t  (461) 63 271 334 167 9.8 5.9 0.9
204 =1t (82 122 268 305 122 134 2.4 2.4

- 110 -



ARRRRRERRE
o0

[E £5-26] HY A SEFHM(ED)

(n=2,274, ©g| : 0tal)

= A4 HA(2H) BEWxt
H A (2,274) 12,145 30,776.18
HES (121) 9,373 13,412.23
TANY (485) 11,287 24,543.86
[HEs B (996) 11,817 25,468.79
MH[AN (465) 15,602 49,820.43
7|EH (207) 9,590 12,917.40
ME (52) 10,775 12,631.39
g4t (399) 11,754 37,204.01
QI (31) 8,855 12,929.42
Ch=t (68) 8,742 12,820.40
g3 (93) 12,070 23,244.54
O (46) 11,333 17,048.79
=4t (96) 10,819 23,326.29
47| (140) 17,493 52,668.50
THE Pie (524) 13,527 33,943.51
== (47) 10,374 12,330.04
= (138) 10,269 21,393.58
MS (63) 8,300 8,893.42
MS (60) 9,908 11,769.27
e (103) 13,750 36,938.49
“s (126) 10,630 13,362.86
Ay (150) 11,061 27,489.08
X (138) 13,349 28,218.45
B | (223) 14,726 42,537.04
ZAH (524) 13,627 33,943.51
2y EXoye (294) 10,030 17,326.40
- A (839) 11,110 29,898.14
et (256) 12,239 27,838.36
Hi=H (138) 13,349 28,218.45
Jjeing 27|19 (24) 29,708 36,491.19
24501 (2,250) 11,958 30,664.90
34 0[5t (404) 8,999 13,534.08
3 X154 0|5} (487) 11,066 28,976.74
o 54 =1~104 Olst (846) 12,855 30,107.13
108 =24~204 0|5t (457) 15,233 44,028.12
209 =1t (80) 9,448 11,916.56
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mad

[H 25-27] M2 ER 7|12 g

(1=2,274(28F M2, T2l : %)

o, HI23
p e PN E=2 e O osjn =

=] A ([ b ly f ] =3

7= N = c,%;:trmnm:.% opagy U 7|Et
=SRE s

X | (2,274) 1000 274 184 510 257 109 0.1
M= (121) 1 100.0 283 158 60.8 158 58 0.0
CAIN (485)  100.0 274 167 486 294 80 0.0
SES SA|ZHIO) (996) 100.0 282 21.0 515 238 116 02
MHIAN (465) 1000 278 164 502 261 123 02
7|Ete (207)  100.0 227 159 502 309 145 0.0
N (52) 100.0 255 196 451 294 59 00
2L (399)  100.0 273 17.0 489 283 150 0.0
OIX (31) 100.0 161 129 484 290 97 32
O+ (68) | 100.0 | 250 221 544 176 147 0.0
53 (93)  100.0 283 272 457 228 109 00
CHE (46) 100.0 239 261 391 174 174 00
24t (96) 100.0  28.1 83 500 281 104 00
27| (140)  100.0 30.0 171 636 307 86 00
P! (524)  100.0 282 171 51.8 204 86 00
== (47) 100.0 340 255 553 362 170 00
e (138)  100.0 319 217 507 370 87 07
e (63) 1000 175 79 476 238 16 00
He (60) 100.0 283 300 600 267 200 0.0
Xt (103)  100.0 233 126 495 291 136 0.0
a2 (126)  100.0 362 173 528 205 11.8 0.0
A4t (150)  100.0 247 247 513 253 93 00
po/ES (138)  100.0 225 181 457 26.1 87 07
2CH (223) 1 100.0 27.0 171 572 302 8.1 0.5
2 (524)  100.0 282 171 518 204 86 00
Z=XH (294) 1000 279 201 490 310 99 03
AMA (839) 100.0 281 17.9 505 257 13.0 0.0
X2tH (256)  100.0 263 220 506 263 14.1 0.0
Mz (138)  100.0 225 181 457 26.1 87 07
AT\ (24) 100.0 292 42 625 125 42 00
AALZO| (2,250) 100.0 274 185 50.8 258 11.0 0.1
34 0|5} (404) 1000 269 173 454 296 133 05

34 =u~bA Ofst (487) 100.0 293 209 516 240 115 0.0
59 ZFu~104 Olot (846) 100.0 281 19.0 509 | 247 9.1 0.0
103 =d+~204 O|6F = (457)| 100.0 | 27.0 165| 543 264 119 0.0

204 =1} (80)| 100.0 | 13.8  125| 563 225 100 1.3
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ARRRRRERRE
o0

(B £2-28] T E] 7| HS

(n=2,274(F8E X2, 29 : %, 7H)

M2

= M= 18 220 3% 44 5 67 %

7| &=

M (2,274 231 408 224 88 33 16 23

M= (121) 231 463 198 58 25 25 22

CAIS (485) 241 435 186 82 39 16 23

A= SAlgHIof (996) 222 394 247 89 34 14 24
MH|AN (465) 234 406 224 88 28 1.9 23

7|EFA (207) 246 386 217 106 34 1.0 23

M2 (52) 250 404 250 58 38 00 22

o} (399) 253 371 228 7.8 4.8 2.3 2.4

QIx B3 419 226 194 65 97 00 22

O+ (68) 265 39.7 19.1 7.4 29 44 2.3

Iz (93) 247 344 290 75 32 1.1 2.3

CHA (46) 283 413 174 65 43 22 22

24t (96) 219 500 167 63 3.1 2.1 2.3

27| (140) 136 40.7 336 7.1 43 07 25

THet Poye (524) | 252 416 21.0 8.4 2.3 1.5 2.3
== 47 85 511 170 128 85 2.1 2.7

=4 (138) 167 399 275 101 36 22 25

MIZB (63) | 302 444 222 3.2 0.0 0.0 2.0

e (60) 150 400 183 183 83 00 27

Myt (103) 262 417 175 97 19 29 23

ze (126) 175 468 214 103 24 16 24

A (150)  20.0 420 233 127 13 07 24

poES (138) 283 399 196 94 22 07 22

e | (223) 202 381 296 67 49 04 24

22uH (524) 252 416 210 84 23 15 23

e Z=XH (294) 201 429 231 85 3.7 1.7 24
=" AAH (839) 229 411 217 88 35 20 23
Xapd (256) 23.0 387 219 109 39 16 24

M3 (138) 283 399 196 94 22 07 22

71 AJ|A (24) | 208 500 250 @ 4.2 0.0 0.0 2.1
=] AAFZO| (2,250) 232 407 224 88 34 16 23
34 0|5t (404) 250 386 220 92 32 20 23

3¢ =354 0|5t (487) 222 388 25.1 88 37 14 24

3 | 5 X110 OJaF | (846)  23.0 424 213 85 3.1 1.7 23
108 =04~209 0|8t (457) 221 407 232 9.0 37 1.3 24

20 =1t (80) 263 475 150 75 25 13 22
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[ 25-29] HY Al, Al H2HEXYE 248571 S)
(n=2,301, =2 : %)
o 2,000~ 50002 o -
2 2Oy 50002t ~ojpl 1HEHE 2L oo
= o2k ok = =

X | 86.0 11.3 1.7 0.6 0.3 0.1
HE=A 86.1 1.5 0.8 1.6 0.0 0.0
CAIN 88.7 8.9 1.8 0.6 0.0 0.0

SES SA&Hf 85.9 1.5 1.5 0.4 0.6 0.1
MH|AN 82.1 14.5 2.6 0.4 0.2 0.2
7|EFA 88.5 8.6 1.4 1.4 0.0 0.0

N2 80.8 15.4 38 0.0 0.0 0.0

=it 90.1 8.9 0.2 0.7 0.0 0.0

OIX 87.5 9.4 3.1 0.0 0.0 0.0

] 81.2 13.0 5.8 0.0 0.0 0.0

= 88.3 7.4 2.1 1.1 1.1 0.0

CHA 84.8 10.9 2.2 0.0 2.2 0.0

At 83.5 13.4 2.1 1.0 0.0 0.0

27| 82.1 15.0 2.1 0.0 0.7 0.0

PAL] 84.0 12.6 2.3 0.6 0.6 0.0

e 85.1 14.9 0.0 0.0 0.0 0.0

Lt 88.6 9.3 1.4 0.0 0.0 0.7

M= 87.5 12.5 0.0 0.0 0.0 0.0

e 86.9 9.8 1.6 1.6 0.0 0.0

bSi=t 84.8 13.3 1.0 0.0 1.0 0.0

PZE 91.4 7.8 0.0 0.8 0.0 0.0

At 82.6 12.9 2.6 1.3 0.0 0.6

= 85.8 9.9 2.8 1.4 0.0 0.0

e | 82.6 14.3 2.7 0.0 0.4 0.0
2 84.0 12.6 2.3 0.6 0.6 0.0

. E=XY 87.2 1.1 1.0 0.0 0.3 0.3
=" AMH 87.5 10.3 1.3 0.8 0.0 0.1
Xzt 86.5 10.4 1.5 0.8 0.8 0.0

DN [Eri 85.8 9.9 2.8 14 0.0 0.0
A7 66.7 25.0 8.3 0.0 0.0 0.0
24301 86.2 11.2 1.7 0.6 0.3 0.1

34 0|5} 87.8 9.5 1.7 0.7 0.0 0.2

39 X154 0|5t 84.5 12.6 2.0 0.4 0.4 0.0
54 X1~104 0|5t 85.8 1.7 1.6 0.7 0.1 0.1
109 E14~204 0|5t 86.6 10.4 1.7 0.4 0.9 0.0
204 =1t 84.1 13.4 1.2 1.2 0.0 0.0
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ARRRRRRRRR
( I

[E £2-30] HE Al, Al H2HISAMEY 24=7 S)(ED)
(n=2,299, ©¢| : TH)

T= At TA(2H) BEHX} U Z|5zt
M A (2,299) 908.8 1,871.07 100 30,000
M= (122) 942.2 2,020.51 100 15,000
CAIN (495) 760.6 1,251.09 100 15,000
S ES SA|2HIA (1,005) 963.6 2,272.74 100 30,000
MH|AS (468) 984.9 1,628.34 100 20,000
7|EfS (209) 806.7 1,522.50 100 10,500
M2 (52) 974.0 1,233.80 100 5,000
HAL (405) 748.2 1,200.76 100 15,000
QIX (32) 775.3 1,089.43 100 5,000
Ch (69) 956.5 1,420.83 100 8,000
= (94) 1,127.2 3,326.01 100 30,000
CHE (46) 1,287.0 3,011.93 100 20,000
=t (97) 975.3 1,822.46 100 15,000
27| (140) 1,029.3 2,302.28 100 25,000
RHE Pie (525) 1,048.6 2,395.04 100 30,000
== 47) 671.5 814.59 100 3,000
=Lt (139) 715.0 893.18 100 6,000
PNES (64) 697.7 770.33 100 4,000
M2 61) 942.3 1,543.59 100 10,500
b=t (105) 959.5 2,128.01 100 20,000
Pz =] (128) 699.3 1,417.23 100 15,000
At (154) 921.8 1,426.41 100 10,000
po[ES (141) 883.3 1,469.31 100 10,000
2CH (224) 980.2 1,955.65 100 25,000
ZuH (525) 1,048.6 2,395.04 100 30,000
. =3H (296) 793.2 1,425.64 100 20,000
= AMH (853) 814.9 1,376.43 100 15,000
X2t (260) 1,016.1 2,5619.84 100 30,000
Hz=H (141) 883.3 1,469.31 100 10,000
7124 A7|A (24) 1,440.2 1,425.34 100 5,000
=] AMZO (2,275) 903.2 1,874.65 100 30,000
34 0J5} (409) 819.7 1,366.28 100 15,000
3¢ x5 0|5} (491) 953.9 1,850.59 100 25,000
oz | 5 x3~104 0I5t (856) 863.2 1,424.06 100 20,000
104 =14~204 0|5t (461) 1,024.2 2,796.67 100 30,000
209 =3t (82) 911.2 1,796.75 100 15,000
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(B £2-31] HY Al 23 XN

ug §) 018 3 of

(n=2,301, ©¢ : %)

= A4 oil ofL|e

M (2,301) 16.5 83.5
M= (122) 10.7 89.3
CAINY (495) 14.1 85.9

S A= (1,006) 20.2 79.8
MH[A (469) 17.7 82.3
7|EH (209) 5.3 94.7

M= (52) 15.4 84.6

24t (405) 12.3 87.7

QI (32) 12.5 87.5

Ch=t (69) 18.8 81.2

g (94) 1.7 88.3

LA (46) 23.9 76.1

2t (97) 13.4 86.6

47| (140) 21.4 78.6
Py (525) 19.6 80.4

Ee 47) 12.8 87.2

=l (140) 17.9 82.1

MBS (64) 18.8 81.3

N 61) 8.2 91.8

i (105) 17.1 82.9

385 (128) 20.3 79.7

8 (155) 11.0 89.0

= (141) 19.9 80.1

e | (224) 18.8 81.3
gy (525) 19.6 80.4

2 B o o 51
OO L— . .
ek (260) 13.1 86.9
= (141) 19.9 80.1

E (24) 12.5 87.5
AMZO| (2,277) 16.6 83.4

34 O|at (410) 13.9 86.1

34 =1~5A Ofst (491) 15.7 84.3
5 =1~104 0|5} (857) 17.6 82.4
109 =1~204 05} (461) 17.8 82.2
204 =1t 82) 15.9 84.1
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(£ £5-32] Mg 2t Al =20] 2238 Ag(122)

ARRRRRRRRR
( I

(n=2,301, ©9 : %)
BI S W sy e T B
2 e oS 23S swy T e
° ZHE TR T
X ZME X9 X
X | (2,301) 51.2 18.8 17.9 10.9 1.2
HE=A (122) 45.9 19.7 13.9 16.4 4.1
CADY (495) 481 20.0 19.0 11.1 1.8
S ES SA|&HI (1,006) 54.9 17.1 17.2 10.3 0.5
MH|A (469) 58.0 17.1 16.2 7.9 0.9
7|EfH (209) 28.2 27.3 24.9 16.7 2.9
N2 (52) 57.7 17.3 17.3 7.7 0.0
HAL (405) 49.4 18.3 18.5 12.3 15
QIH (32) 375 18.8 15.6 28.1 0.0
CH+* (69) 52.2 17.4 15.9 11.6 2.9
g3 (94) 60.6 14.9 14.9 8.5 1.1
WiFs| (46) 47.8 19.6 17.4 10.9 4.3
24t 97) 44.3 23.7 13.4 16.5 2.1
27| (140) 52.1 21.4 16.4 7.1 2.9
XHCH 2t (525) 55.0 18.3 17.7 8.6 0.4
=u 47) 38.3 14.9 19.1 23.4 4.3
=Lt (140) 42.1 22.1 27.1 7.1 14
e (64) 45.3 25.0 17.2 12.5 0.0
e 61) 63.9 13.1 13.1 6.6 3.3
bSi=t (105) 53.3 15.2 18.1 13.3 0.0
A= (128) 51.6 20.3 18.8 7.8 1.6
At (155) 49.0 17.4 22.6 10.3 0.6
po/ES (141) 51.1 19.9 12.1 16.3 0.7
A (224) 51.3 20.1 16.5 10.3 1.8
P s (525) 55.0 18.3 17.7 8.6 0.4
. XA (297) 43.1 21.2 22.2 11.4 2.0
= ZAA (854) 49.3 19.0 185 11.7 15
et (260) 58.5 14.6 15.8 10.0 1.2
M= (141) 51.1 19.9 12.1 16.3 0.7
71 AT (24) 25.0 16.7 29.2 25.0 4.2
=) AALTO| (2,277) 51.4 18.8 17.8 10.8 1.2
34 0|5} 410) 49,5 18.0 21.0 10.0 15
39 X154 0|5t (491) 52.3 19.1 16.1 11.6 0.8
2= 5 =74~104 0|5t (857) 53.3 18.1 17.4 10.0 1.2
109 =14~204 0|5t (461) 48.2 18.9 19.1 12.4 15
204 =1t (82) 46.3 26.8 12.2 12.2 2.4
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(B £2-33] HY Y Al =30] Q5 A

2a)

(n=1,604, ¢/ : %)

AR o 22 w1 a s =y
= AL S ‘;,%5 ot e S WY HIS SHY  JIE

- Zi8e X HI X|#

8 X XE

X | (1,604) 35.4 25.9 20.1 17.7 0.9
HEN (93) 38.7 25.8 16.1 18.3 1.1
AN (334) 33.2 26.9 17.1 21.3 1.5
A= SAlgHiod (708) 35.6 24.7 22.7 16.2 0.7
MHIAN (331) 35.6 27.5 19.3 16.6 0.9
7|EfH (139) 37.0 25.4 18.8 18.8 0.0
N2 (38) 31.6 21.1 28.9 15.8 2.6
o} (305) 36.4 26.2 21.3 15.1 1.0
QIX 1) 28.6 28.6 23.8 19.0 0.0
Ch (49) 42.9 20.4 20.4 16.3 0.0
= (74) 43.2 29.7 10.8 14.9 14
bS] (34) 52.9 14.7 17.6 14.7 0.0
= (66) 30.3 34.8 18.2 15.2 1.5
27| (95) 27.4 27.4 23.2 20.0 2.1
RHEt ! (335) 36.4 23.0 20.0 20.3 0.3
== (40) 30.0 27.5 22.5 20.0 0.0
=4 (98) 31.6 24.5 22.4 21.4 0.0
ME (49) 36.7 30.6 12.2 20.4 0.0
XM= (44) 34.1 34.1 18.2 13.6 0.0
M (69) 36.8 25.0 23.5 14.7 0.0
ze (85) 36.5 30.6 14.1 18.8 0.0
ar= (113) 35.4 21.2 23.9 16.8 2.7
= (90) 31.1 28.9 18.9 18.9 2.2
e (154) 28.6 26.0 24.7 18.8 1.9
P (335) 36.4 23.0 20.0 20.3 0.3
e ZXH (221) 35.7 24.9 19.5 19.9 0.0
= AN (618) 36.1 26.4 20.4 16.0 1.1
X2t (186) 38.7 29.0 17.2 14.5 0.5
M= (90) 31.1 28.9 18.9 18.9 2.2
71 AT (17) 29.4 29.4 235 17.6 0.0
g AALEO| (1,587) 35.5 25.8 20.1 17.7 0.9
34 0|5} (293) 34.8 20.5 20.8 23.2 0.7
34 =154 0|5t (344) 35.2 26.5 22.4 15.1 0.9
ul] 5 =14~104 0|5t (593) 36.3 28.2 19.2 15.7 0.7
108 E14~204 0|5t (320) 36.9 25.0 18.1 19.1 0.9
204 =1t (54) 22.2 315 24.1 185 3.7
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[HE £5-34] HY 29 Al =30] Tt A(1+22¢)
(n=2,301, 2| : %)
B o7 W gy g IS0, SR
= g s tRe sy TLEHE o
R zae Kt IS M T

H A (2,301) 63.5 435 31.9 28.9 1.9
HEN (122) 59.8 49.2 26.2 36.1 4.9
CADY (495) 62.4 42.4 30.5 29.3 2.8
e SAlzHtod (1,0086) 66.3 42.1 33.2 27.7 1.0
MH|A (469) 69.7 42.2 29.9 27.3 1.5
7|EFA (209) 40.7 51.7 37.3 335 2.9
M2 (52) 69.2 40.4 38,5 23.1 1.9
HAt (405) 60.7 45.7 34.6 32.1 2.2
QIX (32) 50.0 375 31.3 46.9 0.0
CH (69) 63.8 47.8 30.4 26.1 2.9
= (94) 72.3 48.9 23.4 31.9 2.1
CHA (46) 58.7 58.7 30.4 21.7 4.3
St 97) 54.6 44.3 25.8 40.2 3.1
27| (140) 65.7 40.0 32.1 25.7 4.3
THE ZH (525) 68.0 415 30.5 23.2 0.6
== 47) 55.3 40.4 38.3 46.8 4.3
4t (140) 57.1 443 42.9 24.3 1.4
M= (64) 60.9 53.1 26.6 35.9 0.0
HE 61) 73.8 37.7 26.2 31.1 33
e (105) 62.9 39.0 33.3 29.5 0.0
A= (128) 64.1 44.5 28.1 28.1 1.6
At (155) 61.3 43.2 40.0 25.8 2.6
= (141) 63.1 39.7 24.1 34.8 2.1
e | (224) 64.3 39.7 335 28.1 3.1
ZAH (525) 68.0 415 30.5 23.2 0.6
e e (297) 57.9 47.8 36.7 30.0 2.0
= S4H (854) 60.9 451 33.3 30.8 2.3
X2t (260) 68.8 42.3 28.1 30.8 15
M= (141) 63.1 39.7 24.1 34.8 2.1
7|1 AN (24) 375 375 45.8 45.8 4.2
==} AARTO| (2,277) 63.8 43.5 31.8 28.8 1.8
34 0J5t (410) 66.1 42.9 35.9 24.6 2.0
39 =54 0[5t (491) 62.9 43.8 31.8 30.1 1.4
ks 5 Zx1~104 0|5} (857) 64.2 43.2 30.7 29.5 1.6
108 X1}~20 0|5t (461) 61.4 44.5 31.7 29.7 2.2
204 =1t (82) 58.5 415 28.0 32.9 4.9
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[HE £5-35] SN ZHES AE
(n=2,301, ©2| : %, ™)
- A~ e Oa Ci4& 0 53 100H
s M 22 za P am am m3 ma
M R (2,301) 366 358 225 39 12 197 2433
polENs! (122) 369 295 262 57 16 206 2643
CAIN (495) 343 416 204 30 06 194 2348
A= SAl2Hiof (1,006) 39.3 341 221 34 12 193 23.29
MH|AS (469) 339 373 228 45 15 202 2559
7|EtS (2090 349 306 268 57 19 209 27.27
N (62) 365 404 192 1.9 1.9 192 2308
g4t (405) 30.6 34.6| 27.7 54| 17| 213 2827
QI (32) 250 469 250 31 0.0 206 26.56
Ch (69) 493 261 188 43 1.4 1.83 20.65
= (94) 404 362 181 53 0.0 1.88 22.07
CHE (46) 326 326 304 43 0.0 207 2663
At (97) 32.0 330 289 62 0.0 209 27.32
27| (1400 40.0 379 186 21 1.4 1.87 21.79
Pie (525) 385 383 196 25 1.1 190 22.38
=2 @47) 447 511 43 00 00 160 14.89
=T (140) 436 286 193 64 21 195 2375
e (64) 297 359 266 63 1.6 214 2852
e (61) 295 443 213 49 0.0 202 2541
M (105) 381 324 267 29 00 194 2357
A= (128) 359 406 234 00 00 188 21.88
4 (155) 36.1 355 187 65 32 205 26.29
M= (141) 383 284 291 28 14 201 2518
B | (224) 371 397 196 22 13 191 2277
gy (525) 385 383 196 25 1.1 190 22.38
SR (297) 391 343 202 51 13 195 23.82
ANH (854) 34.1 348 248 48 15 205 26.23
et (260) 36.9 365 223 42 0.0 194 2346
po[E] (141) 383 284 291 28 1.4 201 25.18
A7|N (24) 375 333 208 42 42| 204 26.04
AATZO| (2,277) 366 358 225 39 12 1.97 2431
34 0|5t (4100 388 337 222 44 1.0 195 2378
3 X164 0[5} (491) 367 350 226 35 22 200 24.90
54 1104 0|5} (857) 37.1 362 212 44 11 1.96 24.04
109 =14~20 0|5} (461) 351 369 245 26 09 197 24.30
204 =1t (82) 280 415 256 49 0.0 207 26.83
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ARRRRRRRRR
( I

(n=2,301, ©¢ : %)

T
HY o M AS AR S5 S iz
= Al (OtEH_lOI é =c; (RHEA =83 xTo','E‘;J ext S 7IE
E &3 s° 5 = Ei 2 X3
=

X | (2,301) 433 206 1458 8.6 8.0 2.8 1.9
M= (122) 393 172 139 107 8.2 5.7 4.9
CAIN (495) 473 178 152 7.7 6.9 3.0 2.2
A= SAlzHtod (1,006) 426 228 130 8.1 9.6 2.3 1.6
MH|AN @69 409 211 181 102 6.8 2.3 0.4
7|EFA (2090 445 182 153 8.6 5.7 4.3 3.3
NE (62) 462 192/ 173 3.8 7.7 5.8 0.0
HAt (405) 432 207 20.0 6.2 4.2 2.0 3.7
OIX (32) 375 125 344 3.1 9.4 3.1 0.0
CH (69) 493 246 101 116 14 0.0 2.9
= 94 415 181 17.0 106 6.4 2.1 4.3
CHA (46) 500 109 130 152 6.5 2.2 2.2

24t 97) 536 134 113 9.3 7.2 2.1 3.1
27| (1400, 386 186 143 93 114 6.4 1.4
XHE e (525) 387 267 1.2 9.9 9.9 3.2 0.4
== @7 468 191 00 128 170 2.1 2.1
e (140). 536 107 121 114 8.6 2.1 1.4
NES (64) 59.4 78 203 7.8 1.6 1.6 1.6
M= 61  49.2 98 164 115 8.2 1.6 3.3
Xt (105)  40.0 21.0 219 7.6 5.7 3.8 0.0
a2 (128) 383 242 117 94 133 1.6 1.6
At (155) 42,6 226 123 9.0 9.0 3.9 0.6
= (141) 411 255 163 2.1 9.2 2.8 2.8
2TH (224) 402 179 179 71103 5.8 0.9
P (525)| 387 267 112 9.9 9.9 3.2 0.4
e Z=XH (297) 532 114 121 114 8.1 2.0 1.7
= ZAA (854) 440 211 156 8.0 6.6 2.1 2.7
X2t (260) 427 173 188 9.6 6.5 2.7 2.3
M= (141) 411 255 163 2.1 9.2 2.8 2.8
71 A7 (24) 375 292 125 00 167 0.0 4.2
bl AARTO| (2,277) 433 206 1458 8.7 7.9 2.9 1.8
34 0|5t @10 415 224 161 105 6.8 15 1.2
349 =54 0|5t (491) 458 17.9 159 8.4 7.3 2.6 2.0
A3 5 =104 Olst (857) 424 190 152 9.5 9.9 2.5 1.6
104 =1~204 O|sb (461) 423 260 13.0 6.5 7.2 3.3 1.7

20 =1t (82 524 146 7.3 3.7 37 122 6.1
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(n=1,538, =l : %)

P

Y AR Y
= Al (of2ufo] 28H (ZHEY CHMXt S 7IE
EIZE) UE 5 IR

X H| (1,538) 187 170 9.0 2.0 2.7
HEN (89) 213 124 9.0 1.1 5.6
EANHY (322) 189 17.7 7.1 25 3.7
= ] (676) 204  16.6 9.0 2.1 3.0
MH|A (321) 16.8 165  11.2 1.9 0.6
7|EfS (130) 123 223 7.7 0.8 15
N (35) 229 257 114 0.0 0.0
AL (288) 153 115 111 2.8 5.6
QIH (19) 105 316 5.3 00 105
Ch (43) 186  14.0 9.3 2.3 7.0
3= (72) 208  22.2 9.7 2.8 5.6
oh (29) 17.20 103 6.9 34 34
=4t (59) 186/ 153 8.5 0.0 1.7

- (98) 204 17.3 9.2 1.0 4.1
Z (335) 221 194 9.0 2.1 0.3
e (39) 263 211 7.9 0.0 0.0
o=l (92) 163 174 5.4 43 0.0
MNZE (45) 22 244 8.9 0.0 4.4
e (42) 95 190 7.1 2.4 2.4
e (65) 169 215 7.7 0.0 0.0
A2 (84) 262 14.3 7.1 2.4 1.2
=1 (107) 178 168 112 0.9 0.0
= (87) 218 126 6.9 2.3 5.7
2EH (152) 19.7 211 9.2 0.7 3.9
o (335) 22.1 19.4 9.0 2.1 0.3
S3d (204) 152 186 6.9 2.5 15
For=ys (581) 179 134 102 2.1 3.6
Mt (179) 16.8 212 8.4 1.7 2.8
M= (87) 218 126 6.9 2.3 5.7
A7|A (19) 105 158 105 5.3 0.0
24301 (1,519) 188/  17.1 9.0 1.9 2.7

31 05} (285) 175 186 109 0.7 2.1
34 X754 0[5} (329) 204 15.2 7.6 2.4 3.4
54 x1~104 0|5 (557) 199 178 9.5 1.6 2.0
104 =14~204 0J5F (313) 16.6  18.2 8.0 3.2 35
204 =1t (55) 14.5 5.5 7.3 1.8 3.6




ARRRRRRRRR
[ I ]

(n=2,301, =l @ %)

=
|04 _'I'_,I=Ao.| AE AR Y 7=
78 IS (OE:rmi‘;* S bige Ssa ownE T
Exs)— S° g 8 HE RN
=
X H| (2,301) 558 403 222 208 20.0 4.1 36
M= (122) 549 426 197 205 197 6.6 9.0
CAINY (495) 59.6 372 200 198 192 4.6 4.6
A= SA|ZHI (1,006) 56.4 424 229 191 192 3.7 36
MH|AS (469) 525 390 252 258 215 3.6 0.9
7|ErA (2090 522 392 191 201 225 4.8 4.3
N (52) 615 385 154 250 212 5.8 0.0
HAt (405) 541 449 183 279 143 4.0 7.7
QIH (32) 438 281 188 375 219 3.1 6.3
Cht (69) 609 420 145 159 203 1.4 7.2
3= (94) 574 351 191 245 277 4.3 8.5
CHA (46) 609 391 152 174 217 4.3 4.3
At (97) 649 351 196 165 186 2.1 4.1
27| (1400 529 336 300 207 214 7.1 4.3
28l (525) 52.8 421 246 170 223 4.6 0.6
== (47 681 362 362 6.4  29.8 2.1 2.1
=4 (140) 643 336 229 157 229 5.0 1.4
PES (64) 609 406 109 266 250 1.6 4.7
e (61) 557 295 295 213 246 3.3 4.9
Rt (105) 505 438 162 267 210 3.8 0.0
Pl (128) 555 430 266 164 188 3.1 2.3
At (155) 548 432 252 200  20.6 4.5 0.6
ho[ES (141) 546 418 241 206 9.9 4.3 6.4
A2CH (224) 536 339 250 241 214 6.3 36
P (525) 528 421 246 17.0 223 46 0.6
=33 (297) 636 364 212 168 242 3.7 2.7
ANH (854) 562 43.0 206 225  17.1 35 5.2
Xz (260) 542 373 204 246 242 3.8 4.2
X=H (141) 546 418 241 206 9.9 4.3 6.4
A7\ (24) 458 625 292 208 125 4.2 4.2
AAZO| (2,277) 559 401 221 208  20.1 4.1 36
34 0|5t (410) 537 405 237 237 234 2.0 2.7
34 xu~54 Ol5F  (491) 595 373 220 210 185 4.3 4.3
3 bd =1~104 0|5t (857) 553 382 228 214 210 35 2.9
104 =1~204 0|5t (461) 53.6 464  21.0 184 189 5.4 4.1
204 =1t (82) 622 463 171 122 73 134 8.5
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[HE £5-39] MEHBMHS WES(ES) &2 WH(1=2)
(n=2,301, T2l : %)
X =1e] _
FY Al’%_i% AR 2 ,-;|o|il’E ==
= Al (OEH_EOI (Rhared =83 ‘;l‘;,'E‘Q'j’ ext S 7IE
E Z3) S WE oo BF X

X | (2,301) 426 17.5 8.3 6.3 1.8 2.9
HEN (122) 393 17.2 9.8 5.7 1.6 6.6
CAIN (495) 448 17.6 6.7 5.9 2.2 36
= SAlgHiod (1,006)  43.1 15.5 8.5 7.0 1.2 2.7
MH|AN 469  40.7 21.3 9.4 5.5 1.9 1.5
7|ErH (209) 411 18.7 7.7 6.7 3.3 3.3
M2 (52) 346 21.2 5.8 9.6 3.8 3.8
HAL (405) 425 24.4 5.7 3.7 2.5 5.2
OIx (32) 406 37.5 3.1 3.1 3.1 0.0
o+ 69) 420 14.5 8.7 2.9 14 4.3
= 94) 415 19.1 8.5 6.4 2.1 4.3
CHE 46) 522 17.4 8.7 43 2.2 2.2
SAt (97) 505 12.4 8.2 4.1 1.0 5.2
27| (1400  36.4 16.4 107 129 2.1 1.4
22 (525)  37.7 13.7 8.4 7.8 1.7 1.1
= (47) 532 21 213 2.1 2.1 4.3
=4 (140) 564 136 10.7 5.0 0.0 1.4
B (64)  46.9 234 109 3.1 1.6 3.1
Mg 61)  44.3 16.4 82 115 1.6 3.3
My (105) 448 21.0 6.7 5.7 2.9 1.0
a2 (128) 414 1.7 133 7.8 0.0 3.9
A (155)  40.6 18.7 6.5 5.8 2.6 1.3
= (141) 454 19.1 5.7 7.1 0.7 5.0
2 (224) 366 20.5 85 10.7 2.7 1.8

P (525)| 37.7 13.7 8.4 7.8 1.7 1.1
=X (297)  53.2 145 121 4.0 1.0 2.4
a4 (854)| 42.9 19.3 75 4.7 1.9 4.2
X2t (260) 435 19.2 7.7 7.3 2.3 2.7
M= (141) 454 19.1 5.7 7.1 0.7 5.0
A7 (24) 333 16.7 8.3 8.3 0.0 4.2
AATO| (2,277)  42.7 17.5 8.3 6.3 1.8 2.9
34 0|5t 410 4758 18.8 9.0 4.9 1.7 2.2
349 =p~54 05t (491) 444 18.7 7.3 5.9 2.2 2.6
3 54 x1~104 0|5t (857) 405 18.1 9.6 6.9 14 2.6
104 =}~204 0|5} (461)  38.6 16.1 7.2 7.8 1.7 3.3
204 =1} 82 51.2 6.1 3.7 2.4 3.7 9.8
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ARRRRRRRRR
[ I ]

[(E £2-40] MEBESMHO HWES(ES) ¢

i

AH2z=)

(n=1,438, 9| : %)

=
siom = MY AR L AR AS xS
T A o HITEL S o2so 38 T (g UK S Jiet
°Tte EE¥® = 9 3N

X | (1438 309 203 175 173 8.0 2.6 34

HEN (85 400 176 141 118 4.7 4.7 7.1
AN (301) 286 196 163 243 4.7 2.7 4.0
A= SAlzHtod (640) 314 198 194 147 8.0 2.8 39
MH|AS (299) 284 224 167 161 130 2.3 1.0
7|EFA (113) 336 212 142 212 6.2 0.9 2.7
ME (30) 233 33 267 333 133 0.0 0.0
2t (278) 353 180 126 126 9.7 3.2 8.6

OIX (18 278 389 111 111 0.0 0.0  11.1
=] (40) 250 275 300 100 7.5 0.0 0.0
= (69) 203 203 174 246 7.2 2.9 7.2
CHA (26) 423 154 154 154 3.8 3.8 3.8
24t (56) 375 161 179 125 107 36 1.8
27| 94) 277 266 191 181 3.2 1.1 4.3
XHE 2 (312) 247 212 237 192 8.3 2.9 0.0
== (30) 333 367 133 100 6.7 0.0 0.0
e 91 363 209 143 187 6.6 3.3 0.0
PES (44) 455 6.8 136 22.7 45 2.3 4.5
M= (40) 250 250 125 175 100 2.5 7.5
Xt 61 344 131 98 295  13.1 0.0 0.0
P (7)) 296 211 169 169 8.5 4.2 2.8
At (1000 33.0 220 180 150 8.0 4.0 0.0
= (78) 346 218 154 141 5.1 2.6 6.4
2TH (142) 268 232 197 204 4.9 0.7 4.2
P (312) 247 212 237 192 8.3 2.9 0.0
e Z=XH (191) 387 194 141 178 5.8 2.6 1.6
= a4 (545) 336 196 160 134 9.2 33 5.0
X2t (1700 265 188 135 247 100 1.8 4.7
M= (78) 346 218 154 141 5.1 2.6 6.4
7|1 A7 (18) 444 111 167 56  16.7 5.6 0.0
bl AARTO| (1,4200 30,7 204 175 175 7.9 2.6 35
34 0|5t (269 286 245 149 204 8.6 0.7 2.2

39 =154 OlsF (317) 328 186 180 164 7.3 2.8 4.1
o3 5 x0~104 05t (526) 314 198 186  16.2 8.7 2.3 3.0
104 =1~204 Ot (274) 288 197 172 175 7.3 5.1 4.4
20 =1t (52) 365 173 173 173 5.8 1.9 3.8
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[(E £5-41] MEBESMH HES(ES) <& LH(1+2=2)

(n=2,301, =¥ : %)

=
HY o M2 AS MM R S0 Jieg
= Atzls= (or2H}o| é e KHEY Z8H ;l‘;l'E‘gT Xt S 7IE
E Z3) °T 5 e oo B MY
=

X H| (2301) 535 398 225 191  19.0 34 5.0
M= (122) 492 475 205 180 180 49 115

CAIRY (495) 547 366 204 214 178 3.8 6.1
SES SA|2HI (1,006) 555 419 206 179 196 3.0 5.2
MH|AS 469 514 377 296 196 198 3.4 2.1
7|Efed (209) 488 373 220 191 182 3.8 4.8
M2 (52) 500 346 288 250 115 3.8 3.8

HAt (405) 511 402 311 143 160 47 111
oI (32) 469 281 375 9.4 250 3.1 6.3
Ch=t (69) 594 406 188 145 188 14 4.3
;U= (94) 543 330 245 266 213 4.3 9.6
L& @6) 609 370 196 174  13.0 4.3 4.3
M (97) 608 402 186 155 134 3.1 6.2
27| (1400 493 386 186 229 307 2.9 4.3

XHTH 2 (525)  51.8 442 187 198 204 3.4 1.1
== @47) 617 362 6.4 277 255 2.1 4.3
ZLt (1400 657 364 179 229 186 2.1 1.4
WES (64) 563 422 266 266 7.8 3.1 6.3
XM= (61 525 311 230 197 279 3.3 8.2
bS[= (105) 505 381 286 238 133 2.9 1.0
P (128)  50.8 383 164 227 195 2.3 5.5
ZLt (155) 523 458 239 161  20.0 5.2 1.3
holES (141) 539 362 220 135  19.1 2.1 8.5
2 (224) 491 362 237 214 254 3.1 4.5

P (525)| 51.8| 442 187 198 204 3.4 1.1
- =X (297) 623 377 182 236 165 2.7 3.4
= AMH (854) 530 410 252 160 17.2 4.0 7.4
Xz (260) 523 346 258 238 196 3.5 5.8
H=H (141) 539 362 220 135  19.1 2.1 8.5
71 A7 (24) 458 625 292 125 167 4.2 4.2
ag AALTO| (2,277) 536 396 224 192  19.1 3.4 5.1
34 0|5} (4100 576 344 244 224 210 2.2 3.7
34 X164 0|5k (@91)  56.0 399 234 179 179 4.1 5.3
A3 5 =104 Olst (857)  51.9 403 235 195 19.0 2.8 4.4
108 =1~204 OlsF (461) 488 425 204 176 195 4.8 5.9
204 =1t (82) 622 463 98 146 134 49 122
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LR ERRERRR
® 0

(B 25-42] HY £ M JE
(n=2,301, £H9l : %)

x| =|o4 x| =X ZAMEH=
7 A segg R TS HEE HEE FUEE g
X H| (2,301) 314 218 147 133 128 48 1.3
HEN (122). 377 189 164 9.8  13.1 4.1 0.0
CAIY (495) 352 208 158 95 117 4.6 2.4
A= SAl&Htod (1,006) 304 191 152 163  13.1 4.9 1.0
MH|AN (469 286 279 130 128 134 3.2 1.1
7|EH (2090 301 249 124 105 124 8.6 1.0
N (52)  30.8 231 135 96 154 5.8 1.9
HAL (405) 333 299 136 7.7 104 4.0 1.2
QI (32) 313 344 125 3.1 12.5 6.3 0.0
ol (69) 362 203 159 7.2 159 43 0.0
a3 (94) 362 202 138 17.0 9.6 2.1 1.1
WiFs| (46) 304 239 196 6.5 8.7 8.7 2.2
24t 97 371 155 175 103 175 2.1 0.0
27| (1400, 300 186 17.9 150  12.1 5.7 0.7
XHE 2 (525)) 255 198 158 162 143 7.2 1.1
=2 (47) 340 106 170 128 234 2.1 0.0
=Lt (140), 350 157 150 164 129 2.9 2.1
MZ (64) 328 266 78 172 9.4 1.6 4.7
e (61) 393 246 164 4.9 6.6 8.2 0.0
Mt (108) 295 219 95 238 9.5 2.9 2.9
#=2 (128)) 375 156 141 164 125 3.1 0.8
Lt (155)) 303 206 174 155 123 1.9 1.9
= (141). 291 241 106 106 170 7.8 0.7
e | (224) 304 219 161 121 129 5.8 0.9
P s (525) 255 198 158 162 143 7.2 1.1
e Z=XA (297) 337 185 145 145  13.1 3.4 2.4
= AN 854) 341 237 150 107 123 33 1.1
X2+ (260) 342 219 127 169 8.8 3.8 15
M= (141) 291 241 106 106  17.0 7.8 0.7
71 A7 (24) 208 16.7 83| 167 208 16.7 0.0
=i} AArZO| (2,277) 315 218 148 132 127 4.7 1.3
34 0|5t (410) 337 256 127 132 110 2.9 1.0
39 X154 0|5 (491) 332 214 155 118 126 3.7 1.8
o3 54 X110 0|5 (857) 306 225 146 140 13.2 39 1.3
1048 =04~204 0|5} (461) 280 197 154 145 137 8.0 0.7
20 =1t (82 378 85 17.1 73 146 122 2.4
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(n=324, T¢| : %)

T2 At ofL|L
M A (324) 58.6 41.4
polEs! (16) 75.0 25.0
EAINY (70) 55.7 44.3
= SAlLHIO] (142) 59.9 40.1
MH|AY (68) 54.4 45.6
7|Ef (28) 60.7 39.3
M= 9 33.3 66.7
B4 (47) 70.2 29.8
QIH @) 100.0 0.0
Ch=t (11 63.6 36.4
=S (10) 70.0 30.0
CHH (5) 80.0 20.0
=4t (17) 76.5 23.5
47| (18) 4.4 55.6
Pye (81) 49.4 50.6
== (11 81.8 18.2
s (1) 52.4 47.6
N ES ) 55.6 44.4
MS 4 25.0 75.0
= (13) 69.2 30.8
A= (17) 4.2 58.8
a8 (22) 59.1 40.9
= (25) 64.0 36.0
3 (31) 48.4 51.6
gy 81) 49.4 50.6
2 SYH (46) 63.0 37.0
= AN (114) 64.0 36.0
X2tH (27) 63.0 37.0
H=H (25) 64.0 36.0
A7| (5) 40.0 60.0
AARZO| (319 58.9 411
34 o|st (49) 57.1 42.9
39 x1~54 0[5} 71) 60.6 39.4
5 =310 0|5t (124) 56.5 435
108 =1~204 0|5} (66) 54.5 45.5
204 =1} (14) 92.9 7.1

F) HY Ol TSH S0/AL VIEF

SEA 324F
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zH 3) oI

ARRRRRRRRR
( I

(n=940, 2| : %)

i RN e GRS e

= ARl EENP Sl M3 Qe 7(gPr USO|LE X|ole|

‘aIOEi A'1')' 7t540| 7N Z2ZZH0| HRE

A0{A SIX| QL0tM

X | (940) 66.5 17.8 7.8 6.3 1.6
M= (39) 69.2 17.9 5.1 7.7 0.0
CADA (181) 69.1 13.8 9.9 5.0 2.2
SES S Az} 413) 67.6 17.7 7.0 6.1 1.7
MH|A (222) 60.4 23.4 8.1 7.2 0.9
7|EfH (85) 70.6 11.8 7.1 7.1 35
e (23) 60.9 17.4 13.0 8.7 0.0
=it (166) 67.5 15.7 8.4 7.2 1.2
QIX (12) 50.0 8.3 33.3 0.0 8.3
ol (23) 73.9 17.4 43 4.3 0.0
o= (39) 68.4 15.8 7.9 5.3 2.6
L (15) 80.0 13.3 6.7 0.0 0.0
At (29) 65.5 17.2 13.8 3.4 0.0
7| (57) 61.4 22.8 10.5 5.3 0.0
XHt 22 (230) 64.3 18.7 7.0 8.7 1.3
=g (13) 84.6 15.4 0.0 0.0 0.0
Lt (55) 65.5 14.5 7.3 9.1 3.6
MZ (32) 62.5 15.6 18.8 0.0 3.1
M= (21) 81.0 4.8 9.5 4.8 0.0
=] (52) 57.7 26.9 3.8 9.6 1.9
H=2 (51) 72.5 19.6 3.9 2.0 2.0
At (65) 76.9 12.3 3.1 4.6 3.1
= (58) 60.3 25.9 5.2 5.2 3.4
N | (92) 59.8 19.6 14.1 5.4 1.1
2 (230) 64.3 18.7 7.0 8.7 1.3
2o ZXH (115) 68.7 14.8 9.6 4.3 2.6
=" A (334) 70.4 15.9 6.9 5.4 15
X2t (111) 65.8 18.9 6.3 7.2 1.8
HZ=H (58) 60.3 25.9 5.2 5.2 3.4
7|1 A7 (11) 36.4 45.5 9.1 9.1 0.0
=1n] AAREOI (929) 66.8 17.4 7.8 6.2 1.7
34 0|5} (180) 64.4 19.4 7.8 6.1 2.2
3¥ x154 0|5} (191) 64.4 17.8 8.9 7.9 1.0
ozl | b x=3~104 05 (367) 68.4 16.3 7.4 6.5 1.4
109 =2}~20 O[5t (189) 66.5 18.6 8.0 4.3 2.7
20 =1t (14) 71.4 21.4 0.0 7.1 0.0

F) HEY Ol MY &4 0L MY e SEAL 940
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(n=940, &2 : %)

T2 At

™A (940) 453
p [Nl (39) 38.5
CAINS (181) 54.1

S =4=He (413) 48.2
MH|AS (222) 35.1
7|EH (85) 42.4
N2 (23) 47.8

B4 (166) 36.1
QIH (12) 50.0

Ch=t (23) 65.2
= (38) 39.5

CHX (15) 46.7

=4t (29) 51.7
&7l (57) 47.4

Pye (230) 41.7
== (13) 61.5
= (55) 455
e (32) 40.6

MS (21) 47.6

= (52) 55.8

o= (51) 47.1

A (65) 47.7

Xz (58) 58.6

3 (92) 47.8
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